Graphing
R%tional Functions
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Arrow Notation

Meaning
x approaches a from the left (x < a butcloseto a)
x approaches a from the right (x > a but closeto a)
x approaches infinity ( x increases without bound)
X approaches negative infinity ( x decreases without bound)
the output approaches infinity (the output increases without bound)
the output approaches negative infinity (the output decreases without bound)

the output approaches a
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What you will learn about:
Graphing Rational Functions
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Find the X- ln?ercept(s) and y-intercept of each function.
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ODomain: Find the domain of the function algebraically. Support

HK-velues your answer graphically
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Determine the range of the function
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Graph the function and tell whether or not the function
has a point of discontinuity at x = 0. If thereis a
discontinuity, tell whether the discontinuity is removable
(Hole) or non-removeable (Vertical Asymptote).
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